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Fﬁmﬁmcﬁ/\m Question

You push a crate across the floor by m@E%Sm a constant
horizontal force. Four forces can be identified on the
crate: 1) the horizontal push B the m&ﬁﬂmsgm_ force, 3)
the normal force, and 4) the @5 onal force. Which forces
do NO work on the crate? ,

A) 2 only

B) 1 and 4 only
C) 2 and 3 only
D)2, 3,and 4




Fﬁﬂ.moﬁ:\@ Que Som

If there is a mﬁoﬁo onal force op: posing the motion of a block
as it slide across the ground to the right does this frictional
force do work on the block? | .

A) No, the frictional force aomm bo work.
B) Sort of, only part of the frictional force does work.

C) Yes, the frictional force does pos: itive work.
D) Yes, the mﬁoﬁoﬁ& moém o neg éﬁw work.




Interactive Question

You raise a 10 N .@.E\mwam book up in the air a distance of 1
meter at a constant velocity of 0.5 m/s. The work done by
gravity 1s |

A)+101]
B)-10J
C)+51]
‘D)-51]
E) zero






Interactive Question

In which of the following situations will tt ere be an
increase in kinetic @s@mﬁ

meE
oss a f aoa ﬁ oobﬂmﬁ speed.
/- 3..3 nd causing it to

rotate mmwﬂ@ﬁ
D) A satellite travels in a circ
a fixed altitude.
E) A stone at the end ot a mﬁsu is whirled i ma horizontal

circle at a constant speed:

ular orbit around a planet at



Interactive Question

Two 98.28 one twice as heavy as the other, are dropped
to the ground from the roof of a building. Just before:
hitting the ground, the heavier marble has

A) as much kinetic energy as the lighter one.

B) twice as much kinetic energy as the lighter one.

C) half as much kinetic en ergy as the lighter one.

D) four times as much k inetic energy as the lighter one.
E) impossible to tell.




583376 Question @

Compare the kinetic mu@amw of two objects: The first has a
mass of — and a speed of 2. The second has a mass of
2mand a speed of v.

A) KE, =KE,

B) 2KE, = KE,
D) KE, = 4KE.
E) 4KE, =KE







